

    


    Table 10 

Example cuts of [image: equation] bodies for even m = 4, 6, 8, 10, 24.




	
	
di-knives
	
SS

	
SSC

	
VS

	
VSC

	
VV

	
VVC

	





	m = 2·2
	
	
	
	
	
	
	
	



	dm = 2·2
	4-knives
	5 [image: equation]

	0
	9 [image: equation]

	0
	0
	0
	m = 2k



	
	
	9 [image: equation]

	
	
	
	
	
	



	
d2 = 2·1
	2-knives
	3 [image: equation]

	4*[image: equation]

	3 [image: equation]

	0
	0
	4* [image: equation]

	
d1 is even and k1 = 1



	
d1= 1
	1-knives
	2
	2
	2
	2
	2
	2
	



	
m = 2·3
	
	
	
	
	
	
	
	



	
dm = 2·3
	6-knives
	7 [image: equation]

	0
	 13 [image: equation]

	0
	 13 [image: equation]

	0
	
k = 3



	
	
	13 [image: equation]

	
	19 [image: equation]

	
	
	
	



	
	
	19 [image: equation]

	
	
	
	
	
	



	
d3 = m/2 = 2·1+1
	3-knives
	4 [image: equation]

	6[image: equation]

	4 [image: equation]

	0
	4 [image: equation]

	6 [image: equation]

	d1 is odd k1 = 1



	
	
	 7 [image: equation]

	
	7 [image: equation]

	
	
	
	



	
d2 = 2·1
	2-knives
	3 [image: equation]

	2*
	3 [image: equation]

	0
	3 [image: equation]

	2*
	d2 is even k2 = 1



	
d1 = 1
	1-knives
	2
	2
	2
	2
	2
	2
	



	m= 4·2
	
	
	
	
	
	
	
	



	
dm = 4·1
	8-knives
	 9 [image: equation]

	0
	17 [image: equation]

	0
	17 [image: equation]

	0
	k = 4



	
	
	17,[image: equation]

	
	25 [image: equation]

	
	25 [image: equation]

	
	



	
	
	25 [image: equation]

	
	 33 [image: equation]

	
	
	
	



	
	
	33 [image: equation]

	
	
	
	
	
	



	
d3 = 2·2
	4-knives
	 5 [image: equation]

	8 [image: equation]

	5 [image: equation]

	0
	5 [image: equation]

	8 [image: equation]

	d1 is even k1=2



	
	
	9 [image: equation]

	
	9 [image: equation]

	
	9 [image: equation]

	
	



	
d2 = 2·1
	2-knives
	3 [image: equation]

	4* [image: equation]

	3 [image: equation]

	0
	3 [image: equation]

	4* [image: equation]

	d2 is even k2 = 1



	
d1 = 1
	1i-knives
	2
	2
	2
	2
	2
	2
	



	
m = 2·5
	
	
	
	
	
	
	
	



	
dm = 2·5
	10-knives
	
j·10 + 1 
	0
	
j·10 + 1 
	0
	j·10 + 1 
	0
	
k = 5



	
	
	
j = 1,2,3,4,5 (11, 21, 31, 41, 51)
	
	
j = 2, 3, 4, 5 (21, 31, 41, 51)
	
	
j = 2,3,4 (21, 31, 41)
	
	



	
d3 = 2·2 + 1
	5-knives
	
j·5 + 1
	10
	
j·5 + 1 
	0
	
j·5 + 1 
	10
	
k1 = 2



	
	
	
j = 1, 2, 3 (6, 11, 16)
	
	
j = 1, 2, 3 (6, 11, 16)
	
	
j = 1, 2 (6, 11)
	
	



	
d2 = 2·1
	2i-knives
	
j·2i + 1 
	4*
	
j·2i + 1 
	0
	
j·2i + 1
	4*
	d2 is even k2 = 1



	
	
	
j = 1 (3)
	
	
j = 1 (3)
	
	
j = 1 (3)
	
	



	
d1 = 1
	1i-knives
	2
	2
	2
	2
	2
	2
	



	m = 2·12
	
	
	
	
	
	
	
	



	
dm = 2·12
	24-knives
	
j·24 + 1 where j = 1,2,…,12 
	0
	
j·24 + 1 where j = 2,3,…,12 
	0
	
j·10 + 1 where j = 2,3,…,11 
	0
	k = 12



	
d7 = 2·6
	12-knives
	
j·12 + 1 where j = 1,2,…,6 
	2·12
	
j·12 + 1 where j = 1,2,…,6 
	0
	
j·12 + 1 where j = 1,2,…,6
	2·12
	k1 = 6



	
d6 = 2·4
	8-knives
	
j·8 + 1 where j = 1,2,3,4 
	2·4*
	
j· 8 + 1 where j = 1,2,3,4 
	0
	
j· 8 + 1 where j = 1,2,3,4 
	2·4*
	k2 = 4



	
d5 = 2·3
	6-knives
	
j· 6 + 1 where j = 1,2,3
	2·3*
	
j· 6 + 1 where j = 1,2,3
	0
	
j· 6 + 1 where j = 1,2,3
	2·3*
	k3 = 3



	
d4 = 2·2
	4-knives
	
j· 4 + 1 where j = 1,2
	2·4*
	
j· 4 + 1 where j = 1,2
	0
	
j· 4 + 1 where j = 1,2
	2·4*
	k4 = 2



	
d3 = 2·1 + 1
	3-knives
	
j· 3 + 1 where j = 1,2
	2·3
	
j· 3 + 1 where j = 1,2
	0
	
j· 3 + 1 where j = 1,2
	2·3
	k5 = 2



	
d2 = 2·1
	2-knives
	
j· 2 + 1 where j = 1 
	4*
	
j· 2 + 1 where j = 1 
	0
	
j· 2 + 1 where j = 1 
	4*
	k2 = 1



	
d1 = 1
	1i-knives
	2
	2
	2
	2
	2
	2
	







  
    
      Figure 52 

      
        [image: thumbnail]
      

      
Decagons (m = 10).



    

  
    
      Figure 14 

      
        [image: thumbnail]
      

      
(a) Radial (red, dotted + solid) and chordal (yellow) knives. (b) Classical trigonometric functions.



    

  
    
      Figure 38 

      
        [image: thumbnail]
      

      
Converting VVmax into SS cut through centre of the sides by rotation.



    

  
    
      Figure 16 

      
        [image: thumbnail]
      

      
Cutting (a) [image: equation], (b)[image: equation]. Number, shape and twisting of resulting bodies and their link number [5]. Different objects are given in different colours.



    

  
    
      Figure 11 

      
        [image: thumbnail]
      

      
Cutting a heptagon with 1 or 7 knives.



    

  
    
      Figure 10 

      
        [image: thumbnail]
      

      
(a) Cutting a hexagon with 1 (d1 upper row) or 6 knives (d6 lower row). (b) Cutting a pentagon with 1 (d1 upper row) or 5 knives (d5 lower row).



    

  
    
      Figure 36 

      
        [image: thumbnail]
      

      
Understanding modes of cutting.



    

  